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$FFLyQ� ������ ³$FWXDOL]DU� HO�PDQXDO� GH� SURFHGLPLHQWR� SDUD� OD� HYDOXDFLyQ� GRFHQWH´��'HULYDGR� GHO� FDPELR� HQ� OD�&RRUGLQDFLyQ�*HQHUDO� GH
3RVJUDGR�� D� SDUWLU� GHO� �� GH�PDU]R� GH� ������ VH� UHDOL]y� XQ� UHDMXVWH� HQ� ODV� DFWLYLGDGHV� \� YLVLyQ� GHO� SURFHVR� ³(YDOXDFLyQ� GRFHQWH´�� HVWH
FDPELR�FRQOOHYD�EHQHILFLRV�VLQ�DIHFWDU�OD�IHFKD�GH�FRQFOXVLyQ�GH�OD�DFFLyQ�GH�PHMRUD��

F�� &RQFOXVLyQ� JHQHUDO� VREUH� HO� DYDQFH� JOREDO� HQ� OD� DWHQFLyQ� GH� ODV� DFFLRQHV� GH� FRQWURO� FRPSURPHWLGDV� \� UHVSHFWR� D� ODV
FRQFOXLGDV� VX� FRQWULEXFLyQ� FRPR�YDORU� DJUHJDGR�SDUD�HYLWDU�TXH� VH�PDWHULDOLFHQ� ORV� ULHVJRV�� LQGLFDQGR� VXV�HIHFWRV� HQ�HO
6LVWHPD�GH�&RQWURO�,QWHUQR�\�HQ�HO�FXPSOLPLHQWR�GH�PHWDV�\�REMHWLYRV�

'XUDQWH�HO�SULPHU�WULPHVWUH�LQLFLDURQ�ODV�GLH]�DFFLRQHV�GH�FRQWURO�FRPSURPHWLGDV�HQ�HO�3URJUDPD�GH�$GPLQLVWUDFLyQ�GH�5LHVJRV�������ORV
DYDQFHV�VRQ�YDULDGRV�\�VH�UHSRUWDQ�DFFLRQHV�TXH�YDQ�GHVGH�HO�����KDVWD�HO������HVWR�XELFD�HO�QLYHO�GH�DYDQFH�SURPHGLR�GH������$
FRQWLQXDFLyQ�VH�KDFH�XQD�EUHYH�GHVFULSFLyQ�GH�ORV�DYDQFHV�FXDOLWDWLYRV��5,(6*2��3URSXHVWDV�GH�LQYHVWLJDFLyQ�JHQHUDGDV�FRQ�SRFD�R�QXOD
SHUWLQHQFLD� \�R� YLDELOLGDG�� $FFLyQ�� +DFHU� XQ� DQiOLVLV� GHO� SURFHGLPLHQWR� GH� UHYLVLyQ� GH� SURSXHVWDV� GH� LQYHVWLJDFLyQ� SDUD� LGHQWLILFDU� ORV
DVSHFWRV�TXH�GHEHQ�PHMRUDUVH��<D�VH�GLVSRQH�GH�XQ�ERUUDGRU�TXH�HVWi�VLHQGR�UHYLVDGR�SRU�OD�&RRUGLQDFLyQ�*HQHUDO�$FDGpPLFD��$FFLyQ�
(ODERUDU� ILFKDV� WpFQLFDV� GH� ODV� FRQYRFDWRULDV� FRQ� DOWR� SRWHQFLDO� GH� SDUWLFLSDFLyQ�� 6H� HODERUDURQ� ILFKDV� GH� FRQYRFDWRULDV� &21$&<7� FRQ
LQIRUPDFLyQ�UHOHYDQWH�\�VH�HQYLDURQ�SDUD�TXH�HO�SHUVRQDO�SXGLHUD�DSURYHFKDUODV��5,(6*2��(YDOXDFLyQ�GHO�GHVHPSHxR�GH�OD�SODQWD�GRFHQWH
HMHFXWDGD�GH�PDQHUD�GHILFLHQWH��$FFLyQ��$FWXDOL]DU�HO�PDQXDO�GH�SURFHGLPLHQWR�SDUD� OD�HYDOXDFLyQ�GRFHQWH��6H�DYDQ]y�HQ�HO�DQiOLVLV�\
DFWXDOL]DFLyQ�GH�QXPHUDOHV�� LQWHJUiQGRVH�DO�FXHUSR�GHO�PDQXDO� ODV�QXHYDV�SURSXHVWDV�GH�UHGDFFLyQ��5,(6*2��5HWURDOLPHQWDFLyQ�GH� ORV
SURJUDPDV�GH�SRVJUDGR�UHDOL]DGD�LQVDWLVIDFWRULDPHQWH��$FFLyQ��,PSOHPHQWDU�XQD�FDPSDxD�GH�DFWXDOL]DFLyQ�SHUPDQHQWH�GH�OD�LQIRUPDFLyQ
GH�FRQWDFWR�GH�ORV�HJUHVDGRV��6H�GHILQLy�OD�HVWUDWHJLD�SDUD�OD�FDPSDxD�GH�DFWXDOL]DFLyQ�SHUPDQHQWH�GH�GDWRV�GH�FRQWDFWR�GH�ORV�HJUHVDGRV
\� VH� LGHQWLILFDURQ� ORV� HJUHVDGRV� VLQ� GDWRV� GH� FRQWDFWR�� $FFLyQ�� &UHDU� XQD� UHG� VRFLDO� GH� HJUHVDGRV�� 6H� GHILQLy� OD� SODWDIRUPD� TXH� VHUi
HPSOHDGD�SDUD�OD�5HG�GH�HJUHVDGRV�\�ORV�UROHV�SDUD�DGPLQLVWUDUOD��5,(6*2��7UDQVIHUHQFLD�GH�ORV�GHVDUUROORV�WHFQROyJLFRV�HMHFXWDGD�FRQ
GHILFLHQFLDV��$FFLyQ��,PSOHPHQWDU�OD�JXtD�SDUD�OD�JHVWLyQ�GH�OD�WHFQRORJtD�H�LQQRYDFLyQ�HQ�(&2685��6H�LQLFLy�FRQ�OD�LPSOHPHQWDFLyQ�GH�OD
JXtD��HYDOXDQGR�SDUFLDOPHQWH�GRV�GHVDUUROORV�WHFQROyJLFRV�����(O�SLFXGR�GHO�DJDYH�\����/D�PHOLQD��$FFLyQ��&UHDU�\�GLIXQGLU�XQD�LQIRJUDItD
VREUH� ORV�VHUYLFLRV�TXH�RWRUJD� OD�&RRUGLQDFLyQ�GH�*HVWLyQ�GH�3UR\HFWRV��7HFQRORJtD�\�6HUYLFLRV��6H�FXHQWD�FRQ� OD�SULPHUD�YHUVLyQ�GH� OD
LQIRJUDItD�GH�*HVWLyQ�7HFQROyJLFD��5,(6*2��,GHQWLILFDFLyQ�GH�QHFHVLGDGHV�GH�FDSDFLWDFLyQ�UHDOL]DGD�FRQ�LPSUHFLVLRQHV��$FFLyQ��&UHDFLyQ�GHO
IRUPDWR�SDUD�GHWHFFLyQ�GH�QHFHVLGDGHV�GH�FDSDFLWDFLyQ�\�DSOLFDFLyQ�GHO�PLVPR��6H�FXHQWD�FRQ�HO�SURWRWLSR�GH�OD�SURSXHVWD�GHO�FXHVWLRQDULR
SDUD�OD�GHWHFFLyQ�GH�ODV�QHFHVLGDGHV�GH�FDSDFLWDFLyQ�GH�SHUVRQDO��$FFLyQ��&UHDFLyQ�GH�OD�HVWUXFWXUD�GHO�SURJUDPD�DQXDO�GH�FDSDFLWDFLyQ�
6H�FXHQWD�FRQ�OD�SURSXHVWD�GHO�GRFXPHQWR�UHODWLYR�D�OD��(VWUXFWXUD�GHO�SURJUDPD�GH�FDSDFLWDFLyQ���
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